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The complement of an angle of 36° is

() 3% (b) 54° (© 64° (d) 144°

The supplement of an angle of 68° is

(@) 22° () 142° © 122° (d) 112°

The supplement of an angle is 70°, then the complement of that angle is _
(@) 32° (b) 162° © 52° (d) does not exist

The complement of an angle is 26°, then the supplement of that angle is |
(1) 64° () 154° © 116° (d) does not exist

In the given figure, two straight lines intersect at point O, if ZPOS = 45°, then ZQOR is equal to
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(1) 135° (b) 55° (©) 155° (d) 45°
AOB is a straight line, a ray OC stands on it. If ZAOC = 145°, then #BOC is equal to
(a) 55° >
(b) 45° %
(©) 35° g

(d) 145°

In the given figure, rays OA, OB, OC and OD are such that ZAOB =307, ZAOC =90°, ZBOD =100
and ZCOD = x, then the value of x is

1
(@ 120° C &
(b) 140° s>
(c) 110° jD

(d) 135°

In the given figure, AB || EC, ZA =60° and ZECD = 70°, then ZACB is equal to
(a) 50°
(b) 60°
(c) 70° /
(d) 40° B/

In the given figure, [ || 1, the value of x is

~~130°
(a) 50° <————k\* 3]

(b) 130°
o € *-xx-—-u--y m
(c) 120 IS
(d) 100° S _
: : lement, then its measure is
« equal to 5 times its comp
ﬁ(UH; a;?je 16 eq (b) 500 (C) 75° (d) 60°
a
Two angles can be supplementary, iEboh/GFNEn.aTE

(a) acut les (b) obtuse angles (c) right angles (d) straight angles
a) acute ang
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